APPLICATION OF q -SPECIAL FUNCTIONS TO PROBABILITY DISTRIBUTIONS

Ritu Sharma¹, Dr. Abha Tenguria²

Research Scholar¹, HOD² Department of Mathematics^{1,2} Govt. Maharani Laxmi Bai Girl's P.G. (Autonomous) College, Bhopal (M.P.), India.

Abstract: In this Paper we have obtained various form of q-analogue of distribution function. This Paper deal with various applications of special function in probability distributions .We discussed about characterization of distribution function. We find the relation between hyper geometric series and Moment generating function.

IndexTerms - q-special function, distribution function, Moment generating function.

INTRODUCTION

Some functions play important role in different area of Mathematics. There is a large theory of special functions which developed out of Mathematical physics and Statistics. Special function and q series are very active areas of research. In Mathematics, the error function is a special function of sigmoid shape that occurs in probability, statistics and partial differential equations describing diffusion.

Definition 1.1 Exponential Distribution – Exponential distribution is continuous distribution. If X is random variable with parameter n > 0, Then

$$f_X(x) = \begin{cases} \lambda e^{-\lambda x} \\ 0 ; otherwise \end{cases} ; x > 0$$
[1]

Definition 1.2 Gamma Function –The Gamma function Γn is defined for n>0 as

$$\Gamma n = \int_0^\infty x^{n-1} e^{-x} dx$$
 [2]

Equation solve by integrating by parts, Then we have

$$\Gamma(n+1) = n \Gamma n$$

Definition 1.3 Gamma Distribution -A Gamma distribution is a statistical distribution. It is a continuous random variable X is said to have a gamma distribution with two parameter $\alpha > 0$ and $\lambda > 0$, Shown as $f_X(x)$ is given by

Gamma
$$(\alpha, \lambda) = f_X(x) = \begin{cases} \frac{\lambda^{\alpha} x^{\alpha-1} e^{-\lambda x}}{\Gamma \alpha} ; x > 0 \\ 0 ; otherwise \end{cases}$$
 [3]

If we assume
$$\alpha = 1$$
, we o

obtain $f_X(x) = \begin{cases} \lambda e^{-\lambda x} \\ 0 ; otherwise \end{cases}$; x > 0

[4]

Then result is Gamma $(1, \lambda)$ = Exponential (λ)

Moment Generating Function of Gamma Distribution

The moment Generating Function is defined by

$$M(t) = E(e^{t} X) = \int_{0}^{\infty} e^{(t-\lambda)x} \frac{\lambda^{\alpha}}{\Gamma_{\alpha}} x^{\alpha-1} dx$$
[5]
If $\lambda = 1$ Then

$$M(t) = E(e^{t} X) = \int_{0}^{\infty} e^{(t-1)x} \frac{x^{\alpha-1}}{\Gamma_{\alpha}} dx$$
 [6]

Definition 1.4 Beta Function - The beta function is also called Euler integral of first kind it is defined by

$$B(t,s) = \int_0^1 x^{t-1} (1-x)^{s-1} dx \qquad \text{for } p > 0, q > 0.$$
[7]

Definition 1.5 Beta Distribution – The general formula for the probability density function of the Beta distribution is

$$f(x) = \frac{(x-a)^{t-1} (b-x)^{s-1}}{B(t,s)(b-a)^{t+s-1}} \qquad a \le x \le b \ ; t,s > 0$$
[8]

Where t and s are the parameters, a and b is lower and upper bounds. in above B(t,s) is beta function define by[1.4].

JETIR1908582 Journal of Emerging Technologies and Innovative Research (JETIR) <u>www.jetir.org</u> 769

If a =0 and b=1 is called standard beta distribution. Then Standard beta distribution and is also known as beta distribution of first kind is

$$f(x) = \frac{x^{t-1} (1-x)^{s-1}}{B(t,s)} \qquad 0 \le x \le 1; t, s > 0 \qquad [9]$$

A continuous random variable X is said to have a beta distribution of the second kind with parameter t and s. Then defined by

$$f(x) = \frac{(x)^{s-1}}{B(t,s)(1+x)^{t+s}}, \ 0 \le x < \infty, \ t, s > 0$$
[10]

And its probability distribution function is given by

$$f(x) = \int_0^\infty \frac{(x)^{s-1}}{B(t,s)(1+x)^{t+s}} dx$$
[11]

Definition 1.6 q Gamma Function

The q-gamma function shown by $\Gamma_q(x)$ is an extension of the factorial function to real numbers. Jackson [1] defined q –analogue of the gamma function by

 $|\mathbf{q}| < 1 \ \mathbf{x} \neq 0, -1, -2 \dots \dots$

$$\Gamma_{q}(x) = (1 - q)^{1 - x} \frac{(q;q)_{\infty}}{(q^{x};q)_{\infty}}$$
[12]

By [3] q-gamma function rewrite in this form

$$\Gamma_{q}(x) = (1-q)^{1-x} \prod_{n=0}^{\infty} \frac{1-q^{n+1}}{1-q^{n+x}}$$
[13]

It is well known that it satisfies

 $\Gamma_{\mathbf{q}}(\mathbf{n}) = [\mathbf{n} - 1]_{\mathbf{q}}!$

It has the following q-integral representation [3].

$$\Gamma_{q}(n) = \int_{0}^{\frac{1}{1-q}} x^{n-1} E_{q}^{-qx} d_{q} x$$
[14]

Although equation (19) has been recently established by Koornwinder [4] the factor $\frac{1}{1-q}$ was traditionally omitted yielding a divergent Jackson integral.

Definition 1.7 The q-Beta function is defined

$$B_{q}(t,s) = \int_{0}^{1} x^{t-1} (1-qx)_{q}^{s-1} d_{q} x = \int_{0}^{1} x^{t-1} \frac{(xq;q)_{\infty}}{(xq^{s};q)_{\infty}} d_{q} x$$
[15]

 $\Re(s) > 0$, $\Re(t) > 0$.

And we have the relation of beta and gamma function is

$$B_{q}(t,s) = \frac{\Gamma_{q}(t)\Gamma_{q}(s)}{\Gamma_{q}(t+s)}$$
[16]

Definition 1.8

Diaz et al. in[2] defined the gamma q distribution and beta q distribution The gamma q-distribution in $[0, \frac{1}{1-a}]$ is

$$\gamma_{q,a}(x) = \frac{x^{a-1} E_q^{-qx}}{\Gamma_q(a)} \mathbf{1}_{\left[0,\frac{1}{1-q}\right]}(x)$$
[17]

The beta q-distribution in [0,1] by

$$\beta_q \qquad (t,s)(x) = \frac{x^{t-1}(1-qx)_q^{s-1}}{\beta_q(t,s)} \mathbf{1}_{[0,1]}(x) \tag{[18]}$$

Main Result

q analogy of Gamma and Beta Distribution

Definition-1.9 If X be a continuous random variable, it is said to have a q-Gamma distribution with parameters $\lambda > 0$ then it is probability density function is defined by

$$f_{X,q}(x) = \begin{cases} \frac{(\lambda)^{\alpha} x^{\alpha-1} e_q^{-\lambda q x}}{\Gamma_q \alpha} & ; x > 0\\ 0 & ; otherwise \end{cases}$$
[19]

and its distribution function is defined by

$$F_{X,q}(x) = \int_0^{\frac{1}{1-q}} \frac{(\lambda)^{\alpha} x^{\alpha-1} e_q^{-\lambda q x}}{\Gamma_q \alpha} d_q x$$
[20]

Theorem 1. The q gamma distribution is the probability distribution that is area under curve is unity. **Proof-**By the definition of q gamma function and q analogy of gamma distribution

$$\int_{0}^{\infty} f_{X,q}(x) d_{q}x = \int_{0}^{\infty} \frac{(\lambda)^{\alpha} x^{\alpha-1} e_{q}^{-\lambda q x}}{\Gamma_{q} \alpha} d_{q}x$$
$$= \frac{(\lambda)^{\alpha}}{\Gamma_{q} \alpha} \int_{0}^{\infty} x^{\alpha-1} e_{q}^{-\lambda q x} d_{q}x$$
$$= \frac{(\lambda)^{\alpha}}{\Gamma_{q} \alpha} \int_{0}^{\frac{1}{1-q}} x^{\alpha-1} e_{q}^{-\lambda q x} d_{q}x$$

Where $\lim_{q \to 1} \frac{1}{1-q} = \infty$, when parameter $\lambda = 1$, Then

$$\int_0^\infty f_{X,q}(x) \, d_q x = \frac{1}{\Gamma_q \alpha} \int_0^{\frac{1}{1-q}} x^{\alpha-1} e_q^{-qx} \, d_q x = \frac{\Gamma_q \alpha}{\Gamma_q \alpha} = 1$$
[21]

Theorem 2. The Mean and Var of q-gamma distribution is equal to parameter $[\alpha]_q$. **Proof** – Mean of the q-gamma distribution is

$$\overline{X} = E_q(X) = \int_0^\infty x f_{X,q}(x) d_q x$$
$$= \int_0^\infty x \frac{(\lambda)^\alpha x^{\alpha-1} e_q^{-\lambda q x}}{\Gamma_q \alpha} d_q x$$
$$= \frac{(\lambda)^\alpha}{\Gamma_q \alpha} \int_0^\infty x \cdot x^{\alpha-1} e_q^{-\lambda q x} d_q x$$
$$= \frac{(\lambda)^\alpha}{\Gamma_q \alpha} \int_0^{\frac{1}{1-q}} x^\alpha e_q^{-\lambda q x} d_q x$$

Where $\lim_{q \to 1} \frac{1}{1-q} = \infty$, when parameter $\lambda = 1$, Then

$$= \frac{(\lambda)^{\alpha}}{\Gamma_{q}\alpha} \cdot \frac{\Gamma_{q}\alpha+1}{(\lambda)^{\alpha+1}} = \frac{[\alpha]_{q}\Gamma_{q}\alpha}{\lambda \Gamma_{q}\alpha}$$
$$= \frac{[\alpha]_{q}}{\lambda} = [\alpha]_{q}$$
[22]

Now we find $E_q(X^2)$

$$E_q(X^2) = \int_0^\infty x^2 f_{X,q}(x) d_q x$$

= $\int_0^{\frac{1}{1-q}} x^2 \frac{(\lambda)^{\alpha} x^{\alpha-1} e_q^{-\lambda q x}}{\Gamma_q \alpha} d_q x$
= $\int_0^{\frac{1}{1-q}} \frac{(\lambda)^{\alpha} x^{\alpha+1} e_q^{-\lambda q x}}{\Gamma_q \alpha} d_q x$
= $\frac{(\lambda)^{\alpha}}{\Gamma_q \alpha} \int_0^{\frac{1}{1-q}} x^{\alpha+1} e_q^{-\lambda q x} d_q x$
= $\frac{(\lambda)^{\alpha}}{\Gamma_q \alpha} \int_0^{\frac{1}{1-q}} x^{\alpha+2-1} e_q^{-\lambda q x} d_q x$
= $\frac{(\lambda)^{\alpha}}{\Gamma_q \alpha} \int_0^{\frac{1}{1-q}} x^{\alpha+2-1} e_q^{-\lambda q x} d_q x$

 $= \frac{(\alpha + 1)\Gamma_q \alpha + 1}{(\lambda)^2 \Gamma_q \alpha}$ $= \frac{[\alpha + 1]_q [\alpha]_q \Gamma_q \alpha}{(\lambda)^2 \Gamma_q \alpha}$ $= \frac{[\alpha + 1]_q [\alpha]_q \alpha}{(\lambda)^2 \Gamma_q \alpha}$

So, we conclude variance of the q-gamma distribution is $Var (X,q) = E_q(X^2) - \{E_q(X)\}^2$

$$(\mathbf{X},\mathbf{q}) = E_q(X^2) - \{E_q(X)\}\$$
$$= \frac{[\alpha+1]_q[\alpha]_q}{(\lambda)^2} - \left\{\frac{[\alpha]_q}{\lambda}\right\}^2$$
$$= \frac{[\alpha]_q}{22}$$

When Parameter $\lambda = 1$, Then

$$\operatorname{ar}\left(\mathbf{X},\mathbf{q}\right) = [\alpha]_q$$

Definition-1.10 Let X be a continuous random variable it is said to have a q-beta distribution of the first kind with two parameters t and s. If its probability density function defined by

V

$$f(x,q) = \beta_q(t,s)(x) = \frac{x^{t-1}(1-qx)_q^{s-1}}{\beta_q(t,s)}$$

And its distribution function is defined by

$$F(x,q) = \int_0^1 \frac{x^{t-1}(1-qx)_q^{s-1}}{\beta_q(t,s)} \, d_q x$$
[24]

Theorem 3 The q beta distribution also satisfies the basic properties -

q- beta distribution is the probability distribution that is the area of $\beta_q(t, s)$ is unity. **Proof:** By the definition of q-beta distribution, we have

$$\int_0^1 F(x,q) \, d_q x = \int_0^1 \frac{x^{t-1}(1-qx)_q^{s-1}}{\beta_q(t,s)} \, d_q x$$

$$=\frac{1}{\beta_q(t,s)} \int_0^1 x^{t-1} (1-qx)_q^{s-1} d_q x = \frac{\beta_q(t,s)}{\beta_q(t,s)} = 1$$
[25]

Theorem 4 The Mean and Variance of q beta distribution is $\frac{[t]_q}{[t+s]_q}$ and $\frac{[s]_q[t]_q}{(t+s)_q^2[t+s+1]_q}$ **Proof:** We know that mean of a continuous random variable can be obtained by $\overline{X} = E_q(X) = \int_0^1 x \cdot f(x,q) d_q x$

$$\begin{aligned} &= \int_{0}^{1} x \cdot \frac{x^{t-1}(1-qx)_{q}^{s-1}}{\beta_{q}(t,s)} \, d_{q}x \\ &= \frac{1}{\beta_{q}(t,s)} \int_{0}^{1} x^{(t+1)-1}(1-qx)_{q}^{s-1} \, d_{q}x \\ &= \frac{1}{\beta_{q}(t,s)} \, \beta_{q}(t+1,s) \\ &= \frac{\Gamma_{q}(t+1)\Gamma_{q}s}{\Gamma_{q}(t+s+1)} \cdot \frac{\Gamma_{q}(t+s)}{\Gamma_{q}t\Gamma_{q}s} \\ &= \frac{[t]_{q}\Gamma_{q}(t)\Gamma_{q}s}{[t+s]_{q}\Gamma_{q}(t+s)} \cdot \frac{\Gamma_{q}(t+s)}{\Gamma_{q}t\Gamma_{q}s} \\ &= \frac{[t]_{q}}{[t+s]_{q}} \end{aligned}$$

Now we find $E_q(X^2)$,

$$E_q(X^2) = \int_0^1 x^2 f_{X,q}(x) d_q x$$

= $\int_0^1 x^2 \frac{x^{t-1}(1-qx)_q^{s-1}}{\beta_q(t,s)} d_q x$
= $\frac{1}{\beta_q(t,s)} \int_0^1 x^{t+2-1}(1-qx)_q^{s-1} d_q x$
= $\frac{1}{\beta_q(t,s)} B_q(t+2,s)$
= $\frac{1}{\beta_q(t,s)} B_q(t+2,s)$
= $\frac{\Gamma_q(t+2)\Gamma_q s}{\Gamma_q(t+s+2)} \cdot \frac{\Gamma_q(t+s)}{\Gamma_q t \Gamma_q s}$
= $\frac{[t+1]_q[t]_q}{[t+s]_q[t+s+1]_q}$

So, we conclude variance of the q-beta distribution is

$$\operatorname{Var} [X,q] = E_q(X^2) - \{E_q(X)\}^2$$

= $\frac{[t+1]_q[t]_q}{[t+s]_q[t+s+1]_q} - \{\frac{[t]_q}{[t+s]_q}\}^2$
= $\frac{[s]_q[t]_q}{(t+s)_q^2[t+s+1]_q}$ [26]

The q –k moment of a Beta random variable X is

$$\mu_{X,q}(k) = E_q\{X^k\}$$
$$= \frac{B_{q(t+k,s)}}{B_{q(t,s)}}$$

JETIR1908582 Journal of Emerging Technologies and Innovative Research (JETIR) <u>www.jetir.org</u> 772

www.jetir.org (ISSN-2349-5162)

[27]

$$=\prod_{n=0}^{k-1}\frac{[t+n]_q}{[t+s+n]_q}$$

Relation between Moment generating function and hyper geometric series

The Moment generating function of a q-beta random variable X is defined for any z and it is

$$M_{X,q}(Z) = \sum_{n=0}^{\infty} \frac{z^n}{n!} \frac{B_q(t+n,s)}{B_q(t,s)} = 1 + \sum_{n=1}^{\infty} \frac{z^n}{n!_q} \prod_{k=0}^{n-1} \frac{[t+n]_q}{[t+s+n]_q}$$
Proof-By using the definition of Moment generating function, we obtain
$$M_{X,q}(Z) = E[\exp(zX)]$$

$$= \int_{-\infty}^{\infty} exp(zX) f_{X,q}(x) d_q x$$

$$= \int_{0}^{1} exp(zX) \frac{x^{t-1}(1-qx)_q^{s-1}}{\beta_q(t,s)} d_q x$$

$$= \frac{1}{\beta_q(t,s)} \int_{0}^{1} exp(zX) x^{t-1}(1-qx)_q^{s-1} d_q x$$

By Taylor series expansion of exp(zX)

$$= \frac{1}{\beta_q(t,s)} \int_0^1 \left(\sum_{n=0}^{\infty} \frac{(zx)^n}{n_q!} \right) x^{t-1} (1-qx)_q^{s-1} d_q x$$

$$= \frac{1}{\beta_q(t,s)} \sum_{n=0}^{\infty} \frac{(z)^n}{n_q!} \int_0^1 x^{t-1} (1-qx)_q^{s-1} d_q x$$

$$= \frac{1}{\beta_q(t,s)} \sum_{n=0}^{\infty} \frac{(z)^n}{n_q!} \int_0^1 x^{(t+n)-1} (1-qx)_q^{s-1} d_q x$$

$$= \frac{1}{\beta_q(t,s)} \sum_{n=0}^{\infty} \frac{(z)^n}{n_q!} B_q(t+n,s)$$

$$= \sum_{n=0}^{\infty} \frac{(z)^n}{n_q!} \frac{B_q(t+n,s)}{\beta_q(t,s)}$$

The above formula for the moment generating function might seem impractical to compute , because it involves an infinite sum as well as product whose number of terms increase indefinitely. However the function

$$1F_1(t,t+s,z) = 1 + \sum_{n=1}^{\infty} \frac{(z)^n}{n_{q!}!} \prod_{n=0}^{k-1} \frac{[t+n]_q}{[t+s+n]_q}$$
[28]

is function is called confluent hypergeometric function of first kind ,that has been extensively studied in many branches of Mathematics .its Properties are well known and efficient algorithm for its computation are available in most software packages for scientific computation. If q tends to 1,then q-gamma and q-beta distribution tern into classical gamma and beta distribution.

References

- A. N. Ahmed, Characterization of beta, binomial, and Poisson distributions, IEEE Transactions on Reliability 40 (1991), no. 3, 290{295.
- [2]. R. Diaz, C. Ortiz, and E. Pariguan, On the k-gamma q-distribution, Cent. Eur. J. Math. 8 (2010), no. 3, 448-458.
- [3]. V.G. Kac and A. De Sole, On Integral representations of q-gamma and q-beta functions, Rend. Mat. Acc. Lincei 9 (2005), 11-29. math.QA/0302032.
- [4]. TOM H. KOORNWINDER, q-Special functions, a tutorial.

[5] Imen Boutouria, Imed Bouzida, and Afif Masmoudi, on characterizing the gamma and the beta q-distributions, pISSN: 1015-8634 / eISSN: 2234-3016.

[6] A. Alsina - M. S. Tom'As, A Geometrical Proof Of A New Inequality For The Gamma

Function, J. Ineq. Pure Appl. Math. 6 (2) (2005), Article 48.

[7]Bruce C. Berndt; What Is A Q-Series?

[8] Hei-Chi Chan; Ramanujan's Cubic Continued Fraction And A Generalization Of His "Most Beautiful Identity" Aug. 20, 2008.

[9]Mansour Mahmoud , 'Generalized Q-Bessel Function And Its Properties'advances In Difference Equations 2013, 2013:121.

[10]J. Sándor, A Note On Certain Inequalities For The Gamma Function, J. Ineq. Pure. App. Math., 6(3)(2005), Art. 61. [Online: <u>Http://Jipam.Vu.Edu.Au/Article.Php?Sid=534</u>].

[11] Giuseppe Dattoli-Amalia Torre ,'Symemetric Q Bessel Functions' ,Le Matematiche,Vol. Li Sept . (1996)-Fasc I , Pp. 153-167.

[12]R.F Swarthow ,An Addition Theorem And Some Product Formulas For The Hahn-Exton Q –Bessel Function ,Can . J. Math 44(1992) ,Pp.867-879.

[13]R.L. Rubin, A Q2-Analogue Operator For Q2-Analogue Fourier Analysis, J. Math. Analys. App., 212 (1997), 571–582.

[14]A. Sh. Shabani, Some Inequalities For The Gamma Function, J. Ineq. Pure Appl. Math. 8 (2) (2007), Article 49.

